

Pay Estimate Created Date: August 2, 2023

| Progress Estimate Number 7 | | Contract ID Prime Contract | 230120-C04 or E & C Bridge, | | ay Period Start ay Period End | July 16, 2 August 1, | 2023 | Original Contract Amount Net Change Order Amount Current Contract Amount | \$2,215,680.45 (\$1,187.00) \$2,214,493.45 | |
|-------------------------------|------------|-------------------------------|--------------------------------|----------|----------------------------------|-------------------------|------------|--|--|--|
| Approval Date | | | | | | | | | By User | |
| August 2, 2023 | | | Generated and | Approve | d (and should b | e considere | d Draft) |) at the Project Office Level by | y grimed | |
| August 2, 2023 | | I | Reviewed and Appr | oved (an | id should be cor | sidered Dra | ift) at th | e Resident Engineer Level by | rileyr1 | |
| August 3, 2023 | | | | Reviewe | ed and Approve | d at the Cen | tral Off | ice Controllers Office Level by | ramses1 | |
| Original Completion | n Date | Current Cor | npletion Date | Act | ual Completion Date | | | % of Current Contract Amou | nt Complete | |
| December 1, 202 | 23 | Decemb | er 1, 2023 | | | | | 48.62% | | |
| | Contract | Informational Dat | es | | Mi | lestones | | | | |
| Date Description | Original C | Completion Date | Date Current Completi | | No Milestone | s Exist for C | Contrac | t | | |
| Acceptance Date | | | | | | | | | | |
| Awarded Date | February 8 | 3, 2023 | February 8, 2023 | | | | | | | |
| Letting Date | January 2 | 0, 2023 | January 20, 2023 | | | | | | | |
| Notice to Proceed Date | March 6, 2 | 2023 | March 6, 2023 | | | | | | | |
| Open to Traffic Date | | | | | | | | | | |
| Work Began Date | May 30, 2 | 023 | May 30, 2023 | | | | | | | |

Contract Total Pay For Estimate No. 7

| Contract Total Payable This Estimate: | \$470,388.24 | \$771,220.50 | \$1,241,608.74 | |
|---------------------------------------|---------------|--------------|----------------|--|
| Other Contract Adjustments | \$0.00 | \$0.00 | \$0.00 | |
| Liquidated Damage | \$0.00 | \$0.00 | \$0.00 | |
| Disincentive | \$0.00 | \$0.00 | \$0.00 | |
| Incentive | \$0.00 | \$0.00 | \$0.00 | |
| Gross Item Adjustments | \$122,563.24 | \$42,422.50 | \$164,985.74 | |
| Total Posted Items Pay | \$347,825.00 | \$728,798.00 | \$1,076,623.00 | |
| 230120-C04 | | | | |
| | This Estimate | Previous | To Date | |

Contract Total Payable This Estimate:

| Items Paid This Estimate Period |
|---------------------------------|
|---------------------------------|

| Project Number | Line Number | Item Code | Item Description | Unit | Unit Price | Current Installed Qty | Current Installed Amount |
|-------------------|-----------------------|--------------|--|------|-------------|-----------------------------|--------------------------------|
| J3P3164 | 0080 | 4019905 | MISC.OPTIONAL PAVEMENT | SQYD | \$110.000 | 953 | \$104,830.00 |
| | 0170 | 6161098A | CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED | EA | \$3,500.000 | 1 | \$3,500.00 |
| | 0310 | 6061061 | MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING | LF | \$30.000 | 225 | \$6,750.00 |
| | 0320 | 6061069 | MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB) | EA | \$3,650.000 | 4 | \$14,600.00 |
| | 0330 | 6063014 | TYPE A CRASHWORTHY END TERMINAL (MASH) | EA | \$3,100.000 | 4 | \$12,400.00 |
| | 0340 | 9039902 | MISC.SIGN RELOCATING | EA | \$750.000 | 2 | \$1,500.00 |
| | 0370 | 5031011A | BRIDGE APPROACH SLAB (MINOR ROAD) | SQYD | \$125.000 | 128 | \$16,000.00 |
| | 0470 | 7034212 | SLAB ON STEEL | SQYD | \$400.000 | 400 | \$160,000.00 |
| | 0480 | 7034216 | TYPE H BARRIER | LF | \$105.000 | 269 | \$28,245.00 |
| Project J | 3P3164 - ⁻ | Total | | | | | \$347,825.00 |
| Overall - | Total | | | | | | \$347,825.00 |

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract . .

| | lajaon | | | | | | | |
|-------------------|-------------|---------------------|--------------------|----------------------------------|--|------------------------|---------------------------------------|----------------------|
| Project Number | Line No. | Item Description | Adjustment Type | Other Item Adjustment Type | Comments | Adjustment Quantity | Line Item Adjustment Unit Price | Adjustment amount |
| J3P3164 | 0030 | EMBANKMENT IN PLACE | Material | | | -183 | \$40.00 | (\$7,320.00) |
| | 0030 | EMBANKMENT IN PLACE | Material | | This adjustment offsets the original system- generated Material Payment Estimate Item | 183 | \$40.00 | \$7,320.00 |



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 2, 2023

| Prog | ress Es | stimate Number 7 | Contract I Prime Cor | D 230 ntractor E & | 120-C04 C Bridge, LLC | Pay Period End August 1, 2023 Net | ginal Contract Ar Change Order A rent Contract An | mount (\$ | 2,215,680.45 1,187.00) 2,214,493.45 |
|-------------------|-------------|---|--------------------------------------|---------------------------|--|--|---|---------------------------------------|---|
| Project Number | Line No. | Item Descrip | otion | Adjustment Type | Other Item Adjustment Type | Comments | Adjustment Quantity | Line Item Adjustment Unit Price | Adjustment amount |
| J3P3164 | | | | | | Adjustment (0005) due to user grin overridding Payment Estimate Exception 1 the current Payment Estima | on | | |
| | 0040 | | MPACTING ANKMENT | Material | | | -155 | \$15.00 | (\$2,325.00) |
| | 0040 | | MPACTING ANKMENT | Material | | This adjustment offsets the original syste generated Material Payment Estimate It Adjustment (0006) due to user grin overridding Payment Estimate Exception 2 the current Payment Estimate | em nec on | \$15.00 | \$2,325.00 |
| | 0070 | TYPE 5 AGGRE BASE (4 | GATE FOR IN. THICK) | Material | | | -953 | \$10.00 | (\$9,530.00) |
| | 0070 | TYPE 5 AGGRE BASE (4 | GATE FOR IN. THICK) | Material | | This adjustment offsets the original syste generated Material Payment Estimate II Adjustment (0007) due to user grin overridding Payment Estimate Exception 3 the current Payment Estimate | nec on | \$10.00 | \$9,530.00 |
| | 0080 | | MISC. | Other Item Adjustment | Asphalt Cement Price Adjustment | 953 SY at 1.75" and AC of 3. 953 SY at 8.25" and AC of 3. | | | \$216.54 |
| | 0080 | | MISC. | Other Item Adjustment | Fuel Price | 953 SY at 10" th | nick | | (\$877.05) |
| | 0170 | COMMU INTERFACE, CON FURNISHED, CON | WITHOUT INICATION ITRACTOR | Overrun | | | -1 | \$3,500.00 | (\$3,500.00) |
| | 0170 | COMMU INTERFACE, CON FURNISHED, CON | WITHOUT INICATION ITRACTOR | Overrun | | This adjustment offsets the original syste generated Overrun Payment Estimate It Adjustment (0008) due to user grin overridding Payment Estimate Exception on the current Payment Estima | em nec 19 | \$3,500.00 | \$3,500.00 |
| | 0310 | MGS GUARDI POSTS, 6 | RAIL, 8 FT. 6 FT 3 IN. SPACING | Construction Stockpile | | Payment Estimate Item Adjustment genera Stockpile Transac | | | (\$4,291.25) |
| | 0310 | MGS GUARDI POSTS, 6 | RAIL, 8 FT. 6 FT 3 IN. SPACING | Material | | | -225 | \$30.00 | (\$6,750.00) |
| | 0310 | MGS GUARDI POSTS, 6 | RAIL, 8 FT. FT 3 IN. SPACING | Material | | This adjustment offsets the original syste generated Material Payment Estimate II Adjustment (0010) due to user grin overridding Payment Estimate Exception 8 the current Payment Estimate | nec on | \$30.00 | \$6,750.00 |
| | 0320 | MGS BRIDGE A TRANSITION (REGULAR/ | SECTION | Construction Stockpile | | Payment Estimate Item Adjustment genera Stockpile Transac | | | (\$9,220.00) |
| | 0320 | MGS BRIDGE A TRANSITION (REGULAR/ | SECTION | Material | | | -4 | \$3,650.00 | (\$14,600.00) |
| | 0320 | MGS BRIDGE A TRANSITION (REGULAR/ | SECTION | Material | | This adjustment offsets the original syste generated Material Payment Estimate I Adjustment (0012) due to user grin overridding Payment Estimate Exception on the current Payment Estima | em nec 10 | \$3,650.00 | \$14,600.00 |
| | 0330 | TYPE A CRASI END TERMIN | | Construction Stockpile | | Payment Estimate Item Adjustment genera Stockpile Transact | | | (\$7,700.00) |
| | 0330 | TYPE A CRASH | HWORTHY | Material | | | -4 | \$3,100.00 | (\$12,400.00) |

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 2, 2023

| | Item Description END TERMINAL (MASH) TYPE A CRASHWORTHY END TERMINAL (MASH) MISC. | Adjustment Type Material Material Material | Other Item Adjustment Type | Comments This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user grimec overridding Payment Estimate Exception 11 on the current Payment Estimate | Adjustment Quantity 4 | Line Item Adjustment Unit Price \$3,100.00 | Adjustment amount \$12,400.00 |
|--|---|--|----------------------------------|--|-----------------------------|---|-------------------------------------|
| 0330 0340 0340 0370 0370 0430 | TYPE A CRASHWORTHY END TERMINAL (MASH) MISC. | Material | | generated Material Payment Estimate Item Adjustment (0014) due to user grimec overridding Payment Estimate Exception 11 | 4 | \$3,100.00 | \$12,400.00 |
| 0340 0340 0370 0370 0430 | END TERMINAL (MASH) MISC. | Material | | generated Material Payment Estimate Item Adjustment (0014) due to user grimec overridding Payment Estimate Exception 11 | 4 | \$3,100.00 | \$12,400.00 |
| 0340 0370 0370 0430 | | | | on the ourient rayment Estimate. | | | |
| 0370 0370 0430 | MISC. | Material | | | -2 | \$750.00 | (\$1,500.00 |
| 0370 0430 | | | | This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0015) due to user grimec overridding Payment Estimate Exception 18 on the current Payment Estimate. | 2 | \$750.00 | \$1,500.00 |
| 0430 | BRIDGE APPROACH SLAB (MINOR ROAD) | Material | | | -128 | \$125.00 | (\$16,000.00) |
| | BRIDGE APPROACH SLAB (MINOR ROAD) | Material | | This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0016) due to user grimec overridding Payment Estimate Exception 5 on the current Payment Estimate. | 128 | \$125.00 | \$16,000.00 |
| 0430 | GALVANIZED STRUCTURAL STEEL PILES (12 IN) | Overrun | | Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). | -3 | \$115.00 | (\$345.00) |
| | GALVANIZED STRUCTURAL STEEL PILES (12 IN) | Overrun | | This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0017) due to user grimec overridding Payment Estimate Exception 20 on the current Payment Estimate. | 3 | \$115.00 | \$345.00 |
| 0470 | SLAB ON STEEL | Material | | | -400 | \$400.00 | (\$160,000.00) |
| 0470 | SLAB ON STEEL | Material | | This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0018) due to user grimec overridding Payment Estimate Exception 12 on the current Payment Estimate. | 400 | \$400.00 | \$160,000.00 |
| 0480 | TYPE H BARRIER | Material | | | -269 | \$105.00 | (\$28,245.00 |
| 0480 | TYPE H BARRIER | Material | | This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0019) due to user grimec overridding Payment Estimate Exception 16 on the current Payment Estimate. | 269 | \$105.00 | \$28,245.00 |
| J3S3154 1060 | FABRICATED STRUCTURAL LOW ALLOY STEEL (I- BEAM) A709, GRADE 50 | Construction Stockpile | | Payment Estimate Item Adjustment generated Stockpile Transaction | | | \$106,825.00 |
| 1080 | MISC. | Construction Stockpile | | Payment Estimate Item Adjustment generated Stockpile Transaction | | | \$29,500.00 |
| 1100 | PLAIN NEOPRENE BEARING PAD | Construction Stockpile | | Payment Estimate Item Adjustment generated Stockpile Transaction | | | \$640.00 |
| 1110 | LAMINATED NEOPRENE BEARING PAD ASSEMBLY | Construction Stockpile | | Payment Estimate Item Adjustment generated Stockpile Transaction | | | \$7,470.00 |



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

| | Contract Project Information | | | | | | | | | | | |
|-------------------|------------------------------|------------------------|-------|--------|--|--|--|--|--|--|--|--|
| Project Number | Federal Proj. Number | Project Description | Route | County | Location of Work | | | | | | | |
| J3P3164 | FAF 52-2(8) | Bridge replacement | 52 | PETTIS | over South Flat Creek 0.1 mile east of Bennet Road and 1 mile west of Route E near Ionia | | | | | | | |
| J3S3154 | FAS S303(10) | Bridge replacement | 127 | PETTIS | over Basin Fork Creek 0.6 mile south of Dove Road and 0.7 mile north of Chaney Road near Green Ridge | | | | | | | |

Totals by Job Numbers

| | This Estimate | Previous | To Date |
|--|-------------------------------------|------------------------------|-------------------------------|
| Posted Item Pay | \$347,825.00 | \$728,798.00 | \$1,076,623.00 |
| Gross Item Adjustments | (\$21,871.76) | \$21,211.25 | (\$660.51) |
| Gross Item Pay | \$325,953.24 | \$750,009.25 | \$1,075,962.49 |
| Incentive | \$0.00 | \$0.00 | \$0.00 |
| Disincentive | \$0.00 | \$0.00 | \$0.00 |
| Liquidated Damages | \$0.00 | \$0.00 | \$0.00 |
| Other Contract Adjustments | \$0.00 | \$0.00 | \$0.00 |
| | | | |
| | This Estimate | Previous | To Date |
| Posted Item Pay | \$0.00 | \$0.00 | \$0.00 |
| | | CO4 044 05 | \$165,646.25 |
| Gross Item Adjustments | \$144,435.00 | \$21,211.25 | \$105,040.25 |
| Gross Item Adjustments Gross Item Pay | \$144,435.00 \$144,435.00 | \$21,211.25 \$21,211.25 | \$165,646.25 \$165,646.25 |
| Gross Item Pay | \$144,435.00 | \$21,211.25 | \$165,646.25 |
| Gross Item Pay | \$144,435.00 \$0.00 | \$21,211.25 \$0.00 | \$165,646.25 \$0.00 |
| Gross Item Pay | \$144,435.00 | \$21,211.25 | \$165,646.25 |



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

| Exceptions (Discrepancies) This Estimate renou | | | |
|--|--|---------------|------------|
| Exceptions / Discrepencies | Explanation | Entered By | Status |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 2035500, Project Item Line Number 0030, Material Set 203550096, Material 0200XXCS - Compacted Soil for Subgrade orEmbankment, Acceptance Action Generic 0200XXCS is insufficient. | Waiting on QC to submit testing results. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 2036000, Project Item Line Number 0040, Material Set 203600096, Material 0200XXCS - Compacted Soil for Subgrade orEmbankment, Acceptance Action Generic 0200XXCS is insufficient. | Waiting on QC to submit testing results. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 3040504, Project Item Line Number 0070, Material Set 304050496, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient. | Waiting on MoDOT Materials to enter testing results. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 3040504, Project Item Line Number 0070, Material Set 304050496, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient. | Waiting on QC to enter testing results. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 5031011A, Project Item Line Number 0370, Material Set 5031011A96, Material 1057JMFRPF - Preformed Fiber Expansion Joint Matl @, Acceptance Action Generic 1057JMFRPF is insufficient. | Waiting for testing results to be submitted. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 5031011A, Project Item Line Number 0370, Material Set 5031011A96, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient. | Waiting on testing results to be submitted. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 5031011A, Project Item Line Number 0370, Material Set 5031011A96, Material 1058PSBB - Polyethylene Sheeting for Bond Breaker, Acceptance Action Generic 1058PSBB is insufficient. | Waiting for testing results to be submitted. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 6061061, Project Item Line Number 0310, Material Set 606106196, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient. | Waiting for MoDOT Materials to submit testing results. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 6061061, Project Item Line Number 0310, Material Set 606106196, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient. | Waiting for Materials to submit test results. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 6061069, Project Item Line Number 0320, Material Set 606106996, Material 1040GRAB - Bridge Anchor Section, Acceptance Action Generic 1040GRAB is insufficient. | Waiting for results from testing of material. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 6063014, Project Item Line Number 0330, Material Set 606301496, Material 1040GRCWA - Crashworthy End Terminal Type A, Acceptance Action Generic 1040GRCWA is insufficient. | Waiting for test results. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 7034212, Project Item Line Number 0470, Material Set 703421296, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient. | Waiting for Materials to give results. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 7034212, Project Item Line Number 0470, Material Set 703421296, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient. | Waiting for Materials to enter results. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 7034212, Project Item Line Number 0470, Material Set 703421296, Material 0705DPRCPS30 - Prestress Conc Deck Panel 3" (75 mm), Acceptance Action Generic 0705DPRCPS30 is insufficient. | Waiting for Material results. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 7034212, Project Item Line Number 0470, Material Set 703421296, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient. | Waiting for Materials testing report. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 7034216, Project Item Line Number 0480, Material Set 703421696, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient. | Waiting on 28 day breaks. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 7034216, Project Item Line Number 0480, Material Set 703421696, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient. | Waiting on 28 day breaks. | grimec | Overridden |
| Estimate Exception Type: Insufficient Materials: Project J3P3164, Item 9039902, Project Item Line Number 0340, Material Set 9039902, Material 0903HSXX - Highway Signing Material, Acceptance Action Generic 0903HSXX is insufficient. | Waiting on reporting for items. | grimec | Overridden |
| Estimate Exception Type: Item Overrun: Contract 230120-C04, Contract Project J3P3164, Project Item Line Number 0170, Contract Line Item Number 0170, Item 6161098A, Minor Item. | Placed additional message board at Route 65 & Route B for traffic control purposes. Will be on Change Order. | grimec | Overridden |
| Estimate Exception Type: Item Overrun: Contract 230120-C04, Contract Project J3P3164, Project Item Line Number 0430, Contract Line Item Number 0430, Item 7021212, Minor Item. | Will be on Change Order. | grimec | Overridden |

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

lotar rate / An terms / An Estimates (including units Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

| Contract Nm.CONTRACT | Project No. | Category | Line No. | Item Code | eport Generated date and can differ from the posted amo Description | Bid Quantity | Net Change Order | Total Current Quantity | Unit | Total Posted Approved | Unit Price | Total Value POSTED To Date (See report generated date) |
|-------------------------|----------------|----------|-------------|--------------|--|-----------------|------------------------|------------------------------|------------|-----------------------------|------------------------|--|
| 220420 CO4 | 1202464 | 0004 | 0010 | 2022040 | | 4.00 | | | 10 | Qty | ¢25,000,00 | - · · · |
| 230120-C04 | J3P3164 | 0001 | 0010 | 2022010 | REMOVAL OF IMPROVEMENTS CLASS A EXCAVATION | 1.00 516.00 | 0.00 | 516.00 | LS CUYD | 516.00 | \$25,000.00 \$20.00 | \$25,000.00 \$10,320.00 |
| | | 0001 | 0020 | 2035500 | | 183.00 | 0.00 | 183.00 | CUYD | 183.00 | \$40.00 | \$7,320.00 |
| | | 0001 | 0040 | 2036000 | COMPACTING EMBANKMENT | 155.00 | 0.00 | 155.00 | CUYD | 155.00 | \$15.00 | \$2,325.00 |
| | | 0001 | 0050 | 2101006A | SUBGRADE COMPACTION (6-INCH DEPTH) | 4.00 | 0.00 | 4.00 | 100F | 4.00 | \$1,500.00 | \$6,000.00 |
| | | 0001 | 0060 | 2153000 | SHAPING SLOPES, CLASS III | 4.00 | 0.00 | 4.00 | 100F | 4.00 | \$1,200.00 | \$4,800.00 |
| | | 0001 | 0070 | 3040504 | TYPE 5 AGGREGATE FOR BASE (4 IN. THICK) | 953.00 | 0.00 | 953.00 | SQYD | 953.00 | \$10.00 | \$9,530.00 |
| | | 0001 | 0080 | 4019905 | MISC.OPTIONAL PAVEMENT | 953.00 | 0.00 | 953.00 | SQYD | 953.00 | \$110.00 | \$104,830.00 |
| | | 0001 | 0090 | 6113020 | FURNISHING TYPE 2 ROCK BLANKET | 494.00 | 0.00 | 494.00 | CUYD | 494.00 | \$55.00 | \$27,170.00 |
| | | 0001 | 0100 | 6113040 | PLACING TYPE 2 ROCK BLANKET | 494.00 | 0.00 | 494.00 | CUYD | 494.00 | \$25.00 | \$12,350.00 |
| | | 0001 | 0110 | 6161005 | CONSTRUCTION SIGNS | 1,146.00 | 0.00 | 1,146.00 | SQFT | 1,146.00 | \$7.00 | \$8,022.00 |
| | | 0001 | 0120 | 6161008 | ADVANCED WARNING RAIL SYSTEM | 4.00 | 0.00 | 4.00 | EA | 4.00 | \$45.00 | \$180.00 |
| | | 0001 | 0130 | 6161009 | FLAG ASSEMBLY | 10.00 | -10.00 | 0.00 | EA | 0.00 | \$20.00 | \$0.00 |
| | | 0001 | 0140 | 6161025 | CHANNELIZER (TRIM LINE) | 66.00 | -56.00 | 10.00 | EA | 10.00 | \$22.00 | \$220.00 |
| | | 0001 | 0150 | 6161030 | TYPE III MOVEABLE BARRICADE | 10.00 | 0.00 | 10.00 | EA | 10.00 | \$145.00 | \$1,450.00 |
| | | 0001 | 0160 | 6161047 | TYPE III OBJECT MARKER | 12.00 | -12.00 | 0.00 | EA | 0.00 | \$300.00 | \$0.00 |
| | | 0001 | 0170 | 6161098A | CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED | 2.00 | 1.00 | 3.00 | EA | 3.00 | \$3,500.00 | \$10,500.00 |
| | | 0001 | 0180 | 6181000 | MOBILIZATION | 1.00 | -1.00 | 0.00 | LS | 0.00 | \$100,000.00 | \$0.00 |
| | | 0001 | 0181 | 6181000 | MOBILIZATION | 0.00 | 1.00 | 1.00 | LS | 1.00 | \$86,868.00 | \$86,868.00 |
| | | 0001 | 0190 | 6181020 | ADDITIONAL MOBILIZATION FOR SEEDING | 4.00 | 0.00 | 4.00 | EA | 0.00 | \$600.00 | \$0.00 |
| | | 0001 | 0205 | 6206001C | 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS | 1,020.00 | 0.00 | 1,020.00 | LF | 0.00 | \$0.50 | \$0.00 |
| | | 0001 | 0210 | 6206000C | 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING | 1,020.00 | 0.00 | 1,020.00 | LF | 0.00 | \$0.50 | \$0.00 |
| | | 0001 | 0220 | 6240103A | PAINT, TYPE P BEADS PERMANENT EROSION CONTROL GEOTEXTILE | 551.00 | 0.00 | 551.00 | SQYD | 551.00 | \$5.00 | \$2,755.00 |
| | | 0001 | 0230 | 6274000 | CONTRACTOR FURNISHED SURVEYING AND STAKING | 1.00 | 0.00 | 1.00 | LS | 0.75 | \$8,000.00 | \$6,000.00 |
| | | 0001 | 0240 | 8025006 | MULCHING | 0.40 | 0.00 | 0.40 | ACRE | 0.00 | \$8,050.00 | \$0.00 |
| | | 0001 | 0250 | 8051000A | SEEDING - COOL SEASON GRASSES | 0.40 | 0.00 | 0.40 | ACRE | 0.00 | \$7,900.00 | \$0.00 |
| | | 0001 | 0260 | 8061004 | SEDIMENT TRAP ROCK | 4.00 | 0.00 | 4.00 | CUYD | 4.00 | \$85.00 | \$340.00 |
| | | 0001 | 0270 | 8061006 | ALTERNATE DITCH CHECK | 190.00 | 0.00 | 190.00 | LF | 0.00 | \$11.50 | \$0.00 |
| | | 0001 | 0280 | 8061016 | SEDIMENT REMOVAL | 62.00 | 0.00 | 62.00 | CUYD | 0.00 | \$15.00 | \$0.00 |
| | | 0001 | 0290 | 8061019 | SILT FENCE | 250.00 | 0.00 | 250.00 | LF | 140.00 | \$3.50 | \$490.00 |
| | | 0001 | 0300 | 8064129 | TYPE 2 TURF REINFORCEMENT MAT | 1,131.00 | 0.00 | 1,131.00 | SQYD | 0.00 | \$2.90 | \$0.00 |
| | | 0010 | 0310 | 6061061 | MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING | 225.00 | 0.00 | 225.00 | LF | 225.00 | \$30.00 | \$6,750.00 |
| | | 0010 | 0320 | 6061069 | MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB) | 4.00 | 0.00 | 4.00 | EA | 4.00 | \$3,650.00 | \$14,600.00 |
| | | 0010 | 0330 | 6063014 | TYPE A CRASHWORTHY END TERMINAL (MASH) | 4.00 | 0.00 | 4.00 | EA | 4.00 | \$3,100.00 | \$12,400.00 |
| | | 0040 | 0340 | 9039902 | MISC.SIGN RELOCATING | 2.00 | 0.00 | 2.00 | EA | 2.00 | \$750.00 | \$1,500.00 |
| | | 0070 | 0350 | 2061000 | CLASS 1 EXCAVATION | 70.00 | 0.00 | 70.00 | CUYD | 70.00 | \$65.00 | \$4,550.00 |
| | | 0070 | 0360 | 2160500 | REMOVAL OF BRIDGES | 1.00 | 0.00 | 1.00 | LS | 1.00 | \$48,000.00 | \$48,000.00 |
| | | 0070 | 0370 | 5031011A | BRIDGE APPROACH SLAB (MINOR ROAD) | 128.00 | 0.00 | 128.00 | SQYD | 128.00 | \$125.00 | \$16,000.00 |
| | | 0070 | 0380 | 7011104 | DRILLED SHAFTS (3 FT. 0 IN. DIA.) | 44.10 | 0.00 | 44.10 | LF | 44.10 | \$1,000.00 | \$44,100.00 |
| | | 0070 | 0390 | 7011203 | ROCK SOCKETS (2 FT 6IN. DIA.) | 32.00 | 0.00 | 32.00 | LF | 32.00 | \$1,100.00 | \$35,200.00 |
| | | 0070 | 0400 | 7011300 | VIDEO CAMERA INSPECTION | 4.00 | 0.00 | 4.00 | EA | 4.00 | \$1,000.00 | \$4,000.00 |
| | | 0070 | 0410 | 7011400 | FOUNDATION INSPECTION HOLES | 72.00 | 0.00 | 72.00 | LF | 72.00 | \$113.00 | \$8,136.00 |
| | | 0070 | 0420 | 7011600 | SONIC LOGGING TESTING | 4.00 | 0.00 | 4.00 | EA | 4.00 | \$1,500.00 | \$6,000.00 |
| | | 0070 | 0430 | 7021212 | GALVANIZED STRUCTURAL STEEL PILES (12 IN) | 180.00 | 3.00 | 183.00 | LF | 183.00 | \$115.00 | \$21,045.00 |

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

| Contract m.CONTRACT | Project No. | Category | Line No. | Item Code | Description | Bid Quantity | Net Change Order | Total Current Quantity | Unit | Total Posted Approved Qty | Unit Price | Total Value POSTED To Date (See report generated date) | |
|------------------------|----------------|-------------|-------------|--------------|--|-----------------|------------------------|------------------------------|-------------|------------------------------------|--------------|--|-----------|
| 30120-C04 | J3P3164 | 0070 | 0440 | 7026000 | PRE-BORE FOR PILING | 168.00 | 0.00 | 168.00 | LF | 168.00 | \$150.00 | \$25,200.0 | |
| | | 0070 | 0450 | 7027000 | PILE POINT REINFORCEMENT | 8.00 | 0.00 | 8.00 | EA | 8.00 | \$175.00 | \$1,400.0 | |
| | | 0070 | 0460 | 7032003 | CLASS B CONCRETE (SUBSTRUCTURE) | 54.40 | 0.00 | 54.40 | CUYD | 54.40 | \$1,050.00 | \$57,120.0 | |
| | | 0070 | 0470 | 7034212 | SLAB ON STEEL | 400.00 | 0.00 | 400.00 | SQYD | 400.00 | \$400.00 | \$160,000.0 | |
| | | 0070 | 0480 | 7034216 | TYPE H BARRIER | 269.00 | 0.00 | 269.00 | LF | 269.00 | \$105.00 | \$28,245.0 | |
| | | 0070 | 0490 | 7061060 | REINFORCING STEEL (BRIDGES) | 10,760.00 | 0.00 | 10,760.00 | LB | 10,760.00 | \$2.00 | \$21,520.0 | |
| | | 0070 | 0500 | 7121111 | FABRICATED STRUCTURAL LOW ALLOY STEEL (I-BEAM) A709, GRADE 50 | 46,130.00 | 0.00 | 46,130.00 | LB | 46,130.00 | \$3.50 | \$161,455.0 | |
| | | 0070 | 0510 | 7123610 | SLAB DRAIN | 20.00 | 0.00 | 20.00 | EA | 20.00 | \$300.00 | \$6,000.0 | |
| | | 0070 | 0520 | 7129901 | MISC.GALVANIZING STRUCTURAL STEEL | 1.00 | 0.00 | 1.00 | LS | 1.00 | \$40,000.00 | \$40,000.0 | |
| | | 0070 | 0530 | 7151001 | VERTICAL DRAIN AT END BENTS | 2.00 | 0.00 | 2.00 | EA | 2.00 | \$1,800.00 | \$3,600.0 | |
| | | 0070 | 0540 | 7161000 | PLAIN NEOPRENE BEARING PAD | 6.00 | 0.00 | 6.00 | EA | 6.00 | \$200.00 | \$1,200.0 | |
| | | 0070 | 0550 | 7162000 | LAMINATED NEOPRENE BEARING PAD ASSEMBLY | 6.00 | 0.00 | 6.00 | EA | 6.00 | \$1,500.00 | \$9,000.0 | |
| | | 0001 | 5001 | 6189901 | MISC.Adjust Mobilization for Contract Bond | 0.00 | 1.00 | 1.00 | LS | 1.00 | \$13,132.00 | \$13,132.0 | |
| | Project J | 3P3164 - To | otal Value | Posted to D | ate as of Report Generated Date | | | | | | | \$1,076,623.0 | |
| | J3S3154 | 0001 | 0560 | 2013000 | CLEARING AND GRUBBING | 1.00 | 0.00 | 1.00 | ACRE | 0.25 | \$5,500.00 | \$1,375.0 | |
| | | 0001 | 0570 | 2022010 | REMOVAL OF IMPROVEMENTS | 1.00 | 0.00 | 1.00 | LS | 0.75 | \$25,000.00 | \$18,750.0 | |
| | | 0001 | 0580 | 2031000 | CLASS A EXCAVATION | 246.00 | 0.00 | 246.00 | CUYD | 0.00 | \$20.00 | \$0.0 | |
| | | 0001 | 0590 | 2035500 | EMBANKMENT IN PLACE | 438.00 | 0.00 | 438.00 | CUYD | 0.00 | \$40.00 | \$0.0 | |
| | | 0001 | 0600 | 2036000 | COMPACTING EMBANKMENT | 36.00 | 0.00 | 36.00 | CUYD | 0.00 | \$30.00 | \$0.0 | |
| | | 0001 | 0610 | 2101006A | SUBGRADE COMPACTION (6-INCH DEPTH) | 3.00 | 0.00 | 3.00 | 100F | 0.00 | \$1,500.00 | \$0.0 | |
| | | 0001 | 0620 | 2153000 | SHAPING SLOPES, CLASS III | 4.00 | 0.00 | 4.00 | 100F | 0.00 | \$1,200.00 | \$0.0 | |
| | | 0001 | 0630 | 3040504 | TYPE 5 AGGREGATE FOR BASE (4 IN. THICK) | 837.00 | 0.00 | 837.00 | SQYD | 0.00 | \$10.00 | \$0.0 | |
| | | 0001 | 0640 | 4019905 | MISC.OPTIONAL PAVEMENT | 837.00 | 0.00 | 837.00 | SQYD | 0.00 | \$110.00 | \$0.0 | |
| | | 0001 | 0650 | 6113020 | FURNISHING TYPE 2 ROCK BLANKET | 290.00 | 0.00 | 290.00 | CUYD | 0.00 | \$55.00 | \$0.0 | |
| | | 0001 | 0660 | 6113040 | PLACING TYPE 2 ROCK BLANKET | 290.00 | 0.00 | 290.00 | CUYD | 0.00 | \$20.00 | \$0.0 | |
| | | 0001 | 0670 | 6161005 | CONSTRUCTION SIGNS | 983.00 | 983.00 | 983.00 0.00 | 0.00 983.00 | SQFT | 983.00 | \$7.00 | \$6,881.0 |
| | | 0001 | 0680 | 6161008 | ADVANCED WARNING RAIL SYSTEM | 4.00 | 0.00 | 4.00 | EA | 4.00 | \$45.00 | \$180.0 | |
| | | 0001 | 0690 | 6161009 | FLAG ASSEMBLY | 10.00 | 0.00 | 10.00 | EA | 0.00 | \$20.00 | \$0.0 | |
| | | 0001 | 0700 | 6161025 | CHANNELIZER (TRIM LINE) | 66.00 | 0.00 | 66.00 | EA | 20.00 | \$20.00 | \$400.0 | |
| | | 0001 | 0710 | 6161030 | TYPE III MOVEABLE BARRICADE | 10.00 | 0.00 | 10.00 | EA | 10.00 | \$145.00 | \$1,450.0 | |
| | | 0001 | 0720 | 6161047 | TYPE III OBJECT MARKER | 12.00 | 0.00 | 12.00 | EA | 0.00 | \$300.00 | \$0.0 | |
| | | 0001 | 0730 | 6161098A | CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR | 2.00 | 0.00 | 2.00 | EA | 3.00 | \$3,500.00 | \$10,500.0 | |
| | | 0001 | 0740 | 6181000 | RETAINED MOBILIZATION | 1.00 | 0.00 | 1.00 | LS | 0.75 | \$100,000.00 | \$75,000.0 | |
| | | 0001 | 0755 | 6181020 | ADDITIONAL MOBILIZATION FOR SEEDING | 4.00 | 0.00 | 4.00 | EA | 0.00 | \$600.00 | \$0.0 | |
| | | 0001 | 0765 | 6206001C | 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS | 940.00 | 0.00 | 940.00 | LF | 0.00 | \$0.50 | \$0.0 | |
| | | 0001 | 0770 | 6206000C | 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT. TYPE P BEADS | 365.00 | 0.00 | 365.00 | LF | 0.00 | \$0.75 | \$0.0 | |
| | | 0001 | 0780 | 6240103A | PERMANENT EROSION CONTROL GEOTEXTILE | 329.00 | 0.00 | 329.00 | SQYD | 0.00 | \$5.00 | \$0.0 | |
| | | 0001 | 0790 | 6274000 | CONTRACTOR FURNISHED SURVEYING AND STAKING | 1.00 | 0.00 | 1.00 | LS | 0.50 | \$8,000.00 | \$4,000.0 | |
| | | 0001 | 0800 | 8025006 | MULCHING | 0.40 | 0.00 | 0.40 | ACRE | 0.00 | \$8,050.00 | \$0.0 | |
| | | 0001 | 0810 | 8061004 | SEDIMENT TRAP ROCK | 4.00 | 0.00 | 4.00 | CUYD | 0.00 | \$85.00 | \$0.0 | |
| | | 0001 | 0820 | 8061006 | ALTERNATE DITCH CHECK | 130.00 | 0.00 | 130.00 | LF | 0.00 | \$11.50 | \$0. | |
| | | 0001 | 0830 | 8061016 | SEDIMENT REMOVAL | 55.00 | 0.00 | 55.00 | CUYD | 0.00 | \$15.00 | \$0. | |
| | | 0001 | 0840 | 8061019 | SILT FENCE | 200.00 | 0.00 | 200.00 | LF | 0.00 | \$3.50 | \$0. | |
| | | 0001 | 0850 | 8064129 | TYPE 2 TURF REINFORCEMENT MAT | 1,572.00 | 0.00 | 1,572.00 | SQYD | 0.00 | \$2.90 | \$0.0 | |
| | | | | | | 1 1 1 1 1 1 | | | | | | | |



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

lotar rate / An nems / An Estimates (including units Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

| Contract CONTRACT | Project No. | Category | Line No. | Item Code | Description | Bid Quantity | Net Change Order | Total Current Quantity | Unit | Total Posted Approved Qty | Unit Price | Total Value POSTED To Date (See report generated date) |
|----------------------|----------------|-------------|-------------|---------------|--|-----------------|------------------------|------------------------------|------|------------------------------------|-------------|--|
| 20-C04 | J3S3154 | 0010 | 0870 | 6061069 | MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB) | 4.00 | 0.00 | 4.00 | EA | 0.00 | \$3,650.00 | \$0.00 |
| | | 0010 | 0880 | 6063014 | TYPE A CRASHWORTHY END TERMINAL (MASH) | 4.00 | 0.00 | 4.00 | EA | 0.00 | \$3,100.00 | \$0.0 |
| | | 0040 | 0890 | 9039902 | MISC.SIGN RELOCATING | 2.00 | 0.00 | 2.00 | EA | 0.00 | \$750.00 | \$0.0 |
| | | 0070 | 0900 | 2061000 | CLASS 1 EXCAVATION | 50.00 | 0.00 | 50.00 | CUYD | 50.00 | \$70.00 | \$3,500.0 |
| | | 0070 | 0910 | 2160500 | REMOVAL OF BRIDGES | 1.00 | 0.00 | 1.00 | LS | 1.00 | \$50,000.00 | \$50,000.0 |
| | | 0070 | 0920 | 5031011A | BRIDGE APPROACH SLAB (MINOR ROAD) | 109.00 | 0.00 | 109.00 | SQYD | 0.00 | \$125.00 | \$0.0 |
| | | 0070 | 0930 | 7011105 | DRILLED SHAFTS (3 FT. 6 IN. DIA.) | 55.10 | 0.00 | 55.10 | LF | 0.00 | \$1,000.00 | \$0.0 |
| | | 0070 | 0940 | 7011204 | ROCK SOCKETS (3 FT 0 IN. DIA.) | 74.00 | 0.00 | 74.00 | LF | 0.00 | \$1,100.00 | \$0.0 |
| | | 0070 | 0950 | 7011300 | VIDEO CAMERA INSPECTION | 4.00 | 0.00 | 4.00 | EA | 0.00 | \$1,000.00 | \$0.0 |
| | | 0070 | 0960 | 7011400 | FOUNDATION INSPECTION HOLES | 114.00 | 0.00 | 114.00 | LF | 0.00 | \$113.00 | \$0.0 |
| | | 0070 | 0970 | 7011600 | SONIC LOGGING TESTING | 4.00 | 0.00 | 4.00 | EA | 0.00 | \$1,500.00 | \$0.0 |
| | | 0070 | 0980 | 7021212 | GALVANIZED STRUCTURAL STEEL PILES (12 IN) | 196.00 | 0.00 | 196.00 | LF | 0.00 | \$115.00 | \$0.0 |
| | | 0070 | 0990 | 7025001 | DYNAMIC PILE TESTING | 4.00 | 0.00 | 4.00 | EA | 0.00 | \$1,200.00 | \$0.0 |
| | | 0070 | 1000 | 7026000 | PRE-BORE FOR PILING | 168.00 | 0.00 | 168.00 | LF | 0.00 | \$175.00 | \$0.0 |
| | | 0070 | 1010 | 7027000 | PILE POINT REINFORCEMENT | 8.00 | 0.00 | 8.00 | EA | 0.00 | \$175.00 | \$0.0 |
| | | 0070 | 1020 | 7032003 | CLASS B CONCRETE (SUBSTRUCTURE) | 51.60 | 0.00 | 51.60 | CUYD | 0.00 | \$1,050.00 | \$0.0 |
| | | 0070 | 1030 | 7034212 | SLAB ON STEEL | 360.00 | 0.00 | 360.00 | SQYD | 0.00 | \$400.00 | \$0.0 |
| | | 0070 | 1040 | 7034216 | TYPE H BARRIER | 265.00 | 0.00 | 265.00 | LF | 0.00 | \$110.00 | \$0.0 |
| | | 0070 | 1050 | 7061060 | REINFORCING STEEL (BRIDGES) | 15,420.00 | 0.00 | 15,420.00 | LB | 0.00 | \$2.00 | \$0.0 |
| | | 0070 | 1060 | 7121111 | FABRICATED STRUCTURAL LOW ALLOY STEEL (I-BEAM) A709, GRADE 50 | 42,730.00 | 0.00 | 42,730.00 | LB | 0.00 | \$3.50 | \$0.0 |
| | | 0070 | 1070 | 7123610 | SLAB DRAIN | 20.00 | 0.00 | 20.00 | EA | 0.00 | \$300.00 | \$0.0 |
| | | 0070 | 1080 | 7129901 | MISC.GALVANIZING STRUCTURAL STEEL | 1.00 | 0.00 | 1.00 | LS | 0.00 | \$40,000.00 | \$0.0 |
| | | 0070 | 1090 | 7151001 | VERTICAL DRAIN AT END BENTS | 2.00 | 0.00 | 2.00 | EA | 0.00 | \$1,800.00 | \$0.0 |
| | | 0070 | 1100 | 7161000 | PLAIN NEOPRENE BEARING PAD | 6.00 | 0.00 | 6.00 | EA | 0.00 | \$250.00 | \$0.0 |
| | | 0070 | 1110 | 7162000 | LAMINATED NEOPRENE BEARING PAD ASSEMBLY | 6.00 | 0.00 | 6.00 | EA | 0.00 | \$1,750.00 | \$0.0 |
| | Project J | 3S3154 - To | otal Value | Posted to D | ate as of Report Generated Date | | | | | | | \$172,036.0 |
| 20-C04 Ove | erall - Total | Value Post | ted to Da | te as of Repo | ort Generated Date | | | | | | | \$1,248,659. |



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

| Line Number | Item Code | Description | DWR Date | DWR Approval Date | Quantity Posted | Units | Location | From Station/ Log Mile | Offset/ Distance | To Station/ Log Mile | Offset/ Distance | Comments |
|----------------|--------------|--|-------------|-------------------------|--------------------|-------|----------|---------------------------------|---------------------|-------------------------------|---------------------|--|
| 0080 | 4019905 | MISC. | 7/28/23 | 7/28/23 | 953.00 | SQYD | | 443+40 | | 445+93 | | |
| 0170 | 6161098A | CMS W/O COMMUNICATION INTERFACE, CONT F/ | 7/31/23 | 7/31/23 | 1.00 | EA | | Rt. 65 Sedalia | | Rt. 65 Sedalia | | Got calls in about putting a message board at Route 65 south & Rt. B to let people know Route 52 was closed an to use Route B as detour. |
| 0310 | 6061061 | MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN | 7/27/23 | 7/28/23 | 225.00 | LF | | 443+40 | | 445+93 | | |
| 0320 | 6061069 | MGS BRIDGE APP. TRANS SEC (REG/NO CURB) | 7/27/23 | 7/28/23 | 4.00 | EA | | 443+40 | | 445+93 | | |
| 0330 | 6063014 | TYPE A CRASHWORTHY END TERMINAL (MASH) | 7/27/23 | 7/28/23 | 4.00 | EA | | 443+40 | | 445+93 | | |
| 0340 | 9039902 | MISC. | 7/25/23 | 7/26/23 | 2.00 | EA | | 443+40 | | 445+93 | | |
| 0370 | 5031011A | BRIDGE APPROACH SLAB (MINOR ROAD) | 7/31/23 | 7/31/23 | 128.00 | SQYD | | 443+40 | | 445+93 | | |
| 0470 | 7034212 | SLAB ON STEEL | 7/25/23 | 7/26/23 | 400.00 | SQYD | | 443+40 | | 445+93 | | |
| 0480 | 7034216 | TYPE H BARRIER | 7/25/23 | 7/26/23 | 269.00 | LF | | 443+40 | | 445+93 | | |

The information below this line are details for Construction Signs (if applicable), No Data Available



| Project | Line | Description | Adjustment Type | Other Adjustment Type | Est. Number | Created Date | Created By | Amount | Remarks |
|---------|--------|---|--------------------------|-----------------------------|----------------|-----------------|---------------|---------------|---|
| J3P3164 | 0030 | EMBANKMENT IN PLACE | Material | 51 | 6 | Jul 17, 2023 | SYSTEM | \$7,320.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user grimec overridding Payment Estimate Exception 1 on the current Payment Estimate. |
| | | | | | 6 | Jul 17, 2023 | SYSTEM | (\$7,320.00) | |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | \$7,320.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user grimec overridding Payment Estimate Exception 1 on the current Payment Estimate. |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | (\$7,320.00) | |
| | | | | - Total | | | | \$0.00 | |
| | | | Material - To | al | | | | \$0.00 | |
| | 0030 - | Total | | | | | | \$0.00 | |
| | 0040 | COMPACTING EMBANKMENT | Material | | 6 | Jul 17, 2023 | SYSTEM | \$2,325.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user grimec overridding Payment Estimate Exception 2 on the current Payment Estimate. |
| | | | | | 6 | Jul 17, 2023 | SYSTEM | (\$2,325.00) | |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | \$2,325.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user grimec overridding Payment Estimate Exception 2 on the current Payment Estimate. |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | (\$2,325.00) | |
| | | | | - Total | | | | \$0.00 | |
| | | | Material - To | al | | | | \$0.00 | |
| | 0040 - | Total | | | | | | \$0.00 | |
| | 0070 | TYPE 5 AGGREGATE FOR BASE | Material | | 6 | Jul 17, 2023 | SYSTEM | \$9,530.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user grimec overridding Payment Estimate Exception 3 on the current Payment Estimate. |
| | | | | | 6 | Jul 17, 2023 | SYSTEM | (\$9,530.00) | |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | \$9,530.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user grimec overridding Payment Estimate Exception 3 on the current Payment Estimate. |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | (\$9,530.00) | |
| | | | | - Total | | | | \$0.00 | |
| | | | Material - To | al | | | | \$0.00 | |
| | 0070 - | Total | | | | | | \$0.00 | |
| | 0080 | MISC. | Other Item Adjustment | ACAD | | Aug 2, 2023 | rileyr1 | \$216.54 | 953 SY at 1.75" and AC of 3.8% 953 SY at 8.25" and AC of 3.2% |
| | | | | ACAD - Tota | | | | \$216.54 | |
| | | | | FUEL | 7 | Aug 2, 2023 | rileyr1 | (\$877.05) | 953 SY at 10" thick |
| | | | | FUEL - Tota | | | | (\$877.05) | |
| | | | Other Item A | djustment - T | otal | | | (\$660.51) | |
| | 0080 - | | | | | | | (\$660.51) | |
| | 0090 | FURNISHING TYPE 2 ROCK BLANKET | Material | | 5 | Jun 30, 2023 | SYSTEM | \$13,585.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user grimec overridding Payment Estimate Exception 1 on the current Payment Estimate. |
| | | | | | 5 | Jun 30, 2023 | SYSTEM | (\$13,585.00) | |
| | | | | - Total | | | | \$0.00 | |
| | | | Material - To | | | | | \$0.00 | |
| | 0090 - | | 0 | | - | | 0)/0==1 | \$0.00 | |
| | 0170 | CMS W/O COMMUNICATION INTERFACE, CONT F/ | Overrun | Overrun | | Aug 2, 2023 | SYSTEM | \$3,500.00 | This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user grimec overridding Payment Estimate Exception 19 on the current Payment Estimate. |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | (\$3,500.00) | |
| | | | | Overrun - T | otal | | | \$0.00 | |
| | | | Overrun - To | tal | | | | \$0.00 | |
| | | | | | | | | | |



Aug 4, 2023

| Project | Line | Description | Adjustment Type | Other Adjustment Type | Est. Number | Created Date | Created By | Amount | Remarks |
|---------|--------|---|-----------------------------------|----------------------------------|----------------|-----------------|---------------|--------------------------|--|
| 3P3164 | 0170 - | Total | | | | | | \$0.00 | |
| | 0220 | PERMANENT EROSION CONTROL | Material | | 6 | Jul 17, 2023 | SYSTEM | \$2,755.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user grimec overridding Payment Estimate Exception 5 on the current Payment Estimate. |
| | | GEOTEXTILE | | | 6 | Jul 17, 2023 | SYSTEM | (\$2,755.00) | |
| | | | | - Total | | 1 | | \$0.00 | |
| | | | Material - Tot | al | | | | \$0.00 | |
| | 0220 - | ·Total | | | | | | \$0.00 | |
| | 0310 | MGS GUARDRAIL, 8 FT. POSTS, 6 FT. | Construction Stockpile | | 7 | Aug 2, 2023 | SYSTEM | (\$4,291.25) | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | | - 3 IN | | - Total | | | | (\$4,291.25) | |
| | | | Construction | Stockpile - 1 | ſotal | | | (\$4,291.25) | |
| | | | Construction Stockpile STMI | | 2 | May 1, 2023 | SYSTEM | \$4,291.25 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | | | 511111 | - Total | | | | \$4,291.25 | |
| | | | Construction | Stockpile ST | TMI - Total | | | \$4,291.25 | |
| | | | Material | | 7 | Aug 2, 2023 | SYSTEM | \$6,750.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user grimec overridding Payment Estimate Exception 8 on the current Payment Estimate. |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | (\$6,750.00) | |
| | | | | - Total | | | | \$0.00 | |
| | | | Material - Tot | al | | | | \$0.00 | |
| | 0310 - | Total | | | | | | \$0.00 | |
| | 0320 | MGS BRIDGE APP. TRANS SEC (REG/NO CURB) | Construction Stockpile | | 7 | Aug 2, 2023 | SYSTEM | (\$9,220.00) | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | | | | - Total | | | | (\$9,220.00) | |
| | | | Construction | Stockpile - 1 | Fotal | | | (\$9,220.00) | |
| | | | Construction Stockpile STMI | | 4 | Jun 16, 2023 | SYSTEM | \$9,220.00 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | | | - Total | | | | | \$9,220.00 \$9,220.00 | |
| | | | Construction | struction Stockpile STMI - Total | | | | | |
| | | | Material | | 7 | Aug 2, 2023 | SYSTEM | \$14,600.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user grimec overridding Payment Estimate Exception 10 on the current Payment Estimate. |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | (\$14,600.00) | |
| | | | | - Total | | | | \$0.00 | |
| | | | Material - Tot | al | | | | \$0.00 | |
| | 0320 - | Total | | | | | | \$0.00 | |
| | 0330 | TYPE A CRASHWORTHY END TERMINAL (MASH) | Construction Stockpile | | 7 | Aug 2, 2023 | SYSTEM | (\$7,700.00) | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | | | | - Total | | | | (\$7,700.00) | |
| | | | Construction | Stockpile - 1 | | | | (\$7,700.00) | |
| | | | Construction Stockpile STMI | | 2 | May 1, 2023 | SYSTEM | \$7,700.00 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | | | O | - Total | | | | \$7,700.00 | |
| | | | Construction | Stockpile S1 | | | OVOTEM | \$7,700.00 | This adjustment official the critical system reported Material Party of |
| | | | Material | | 7 | Aug 2, 2023 | SYSTEM | \$12,400.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user grimec overridding Payment Estimate Exception 11 on the current Payment Estimate. |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | (\$12,400.00) | |
| | | | | - Total | | | | \$0.00 | |
| | | | Material - Tot | al | | | | \$0.00 | |
| | 0330 - | Total | | | | | | \$0.00 | |
| | 0340 | MISC. | Material | | 7 | Aug 2, 2023 | SYSTEM | \$1,500.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user grimec overridding Payment Estimate Exception 18 on the current Payment Estimate. |



Aug 4, 2023

| Project | Line | Description | Adjustment | Other | Est. | Created | Created | Amount | Remarks |
|---------|--------|--|---------------|--------------------|--------|-----------------|---------|----------------|--|
| | | | Туре | Adjustment Type | Number | Date | Ву | | |
| 3P3164 | 0340 | MISC. | Material | Vaterial | | Aug 2, 2023 | SYSTEM | (\$1,500.00) | |
| | | | | - Total | | | | \$0.00 | |
| | | | Material - To | tal | | | | \$0.00 | |
| | 0340 - | Total | | | | | | \$0.00 | |
| | 0370 | BRIDGE APPROACH SLAB (MINOR ROAD) | Material | | 7 | Aug 2, 2023 | SYSTEM | \$16,000.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user grimec overridding Payment Estimate Exception 5 on the current Payment Estimate. |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | (\$16,000.00) | |
| | | | | - Total | | | | \$0.00 | |
| | | | Material - To | tal | | | | \$0.00 | |
| | 0370 - | Total | | | | | | \$0.00 | |
| | 0430 | GALVANIZED STRUCTURAL STEEL PILES (12 IN | Overrun | Overrun | 5 | Jun 30, 2023 | SYSTEM | \$345.00 | This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user grimec overridding Payment Estimate Exception 6 on the current Payment Estimate. |
| | | | | | 5 | Jun 30, 2023 | SYSTEM | (\$345.00) | |
| | | | | | 6 | Jul 17, 2023 | SYSTEM | (\$345.00) | Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). |
| | | | | | 6 | Jul 17, 2023 | SYSTEM | \$345.00 | This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user grimec overridding Payment Estimate Exception 9 on the current Payment Estimate. |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | (\$345.00) | Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | \$345.00 | This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user grimec overridding Payment Estimate Exception 20 on the current Payment Estimate. |
| | | | | Overrun - Total | | | | \$0.00 | |
| | | | Overrun - To | tal | | | | \$0.00 | |
| | 0430 - | Total | | | | | | \$0.00 | |
| | 0450 | PILE POINT REINFORCEMENT | Material | Material | 5 | Jun 30, 2023 | SYSTEM | \$1,400.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user grimec overridding Payment Estimate Exception 2 on the current Payment Estimate. |
| | | | | | | Jun 30, 2023 | SYSTEM | (\$1,400.00) | |
| | | | | - Total | | | | | |
| | | | Material - To | tal | | | | \$0.00 | |
| | 0450 - | Total | | | | | | \$0.00 | |
| | 0460 | CLASS B CONCRETE (SUBSTRUCTURE) | Material | | 5 | Jun 30, 2023 | SYSTEM | \$57,120.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user grimec overridding Payment Estimate Exception 3 on the current Payment Estimate. |
| | | | | | 5 | Jun 30, 2023 | SYSTEM | (\$57,120.00) | |
| | | | | | 6 | Jul 17, 2023 | SYSTEM | \$57,120.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user grimec overridding Payment Estimate Exception 6 on the current Payment Estimate. |
| | | | | | 6 | Jul 17, 2023 | SYSTEM | (\$57,120.00) | |
| | | | | - Total | | | | \$0.00 | |
| | | | Material - To | tal | | | | \$0.00 | |
| | 0460 - | Total | | | | | | \$0.00 | |
| | 0470 | SLAB ON STEEL | Material | | 7 | Aug 2, 2023 | SYSTEM | \$160,000.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user grimec overridding Payment Estimate Exception 12 on the current Payment Estimate. |
| | | | | | 7 | Aug 2, 2023 | SYSTEM | (\$160,000.00) | |
| | | | | - Total | | | | \$0.00 | |
| | | | Material - To | tal | | | | \$0.00 | |
| | 0470 - | Total | | | | | | \$0.00 | |
| | 0480 | TYPE H BARRIER | Material | | 7 | Aug 2, 2023 | SYSTEM | \$28,245.00 | This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user grimec overridding Payment |



Aug 4, 2023

| Project | Line | Description | Adjustment | Other | Est. | Created | Created | Amount | Remarks |
|---------|---|--|--|---|---|--|---------|---|---|
| , | | | Туре | Adjustment Type | Number | Date | Ву | | |
| J3P3164 | 0480 | TYPE H BARRIER | Material | | 7 | Aug 2, 2023 | SYSTEM | (\$28,245.00) | |
| | | | | - Total | | | | \$0.00 | |
| | | | Material - To | tal | | | | \$0.00 | |
| | 0480 | - Total | | | | | | \$0.00 | |
| J3P3164 | - Total | | | | | | | (\$660.51) | |
| J3S3154 | 0860 | MGS GUARDRAIL, 8 FT. POSTS, 6 FT. - 3 IN | Construction Stockpile STMI | | 2 | May 1, 2023 | SYSTEM | \$4,291.25 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | | - 5 114 | 51101 | - Total | | | | \$4,291.25 | |
| | | | Construction | 1 Stockpile S | TMI - Tota | I | | \$4,291.25 | |
| | 0860 | - Total | | | | | | \$4,291.25 | |
| | 0870 | MGS BRIDGE APP. TRANS SEC | Construction Stockpile | | 4 | Jun 16, 2023 | SYSTEM | \$9,220.00 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | | (REG/NO CURB) | STMI | - Total | | | | \$9,220.00 | |
| | | | Construction | Stockpile S | TMI - Tota | I | | \$9,220.00 | |
| | 0870 | - Total | al | | | | | | |
| | 0880 | TYPE A CRASHWORTHY END TERMINAL (MASH) | Construction Stockpile | | 2 | May 1, 2023 | SYSTEM | \$7,700.00 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | | | STMI | - Total | | | | \$7,700.00 | |
| | | | Construction | Stockpile S | TMI - Tota | | | \$7,700.00 | |
| | 0880 | - Total | | | | | | \$7,700.00 | |
| | 1060 | | | | | | | \$1,100.00 | |
| | 1060 | FAB. STRUCT. LOW ALLOY | Construction Stockpile | | 7 | Aug 2, 2023 | SYSTEM | \$106,825.00 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | 1060 | | | - Total | 7 | Aug 2, 2023 | SYSTEM | | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | 1060 | LOW ALLOY | Stockpile STMI | - Total Stockpile S | | 2023 | SYSTEM | \$106,825.00 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | | LOW ALLOY | Stockpile STMI | | | 2023 | SYSTEM | \$106,825.00 \$106,825.00 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | | LOW ALLOY STEEL(IBM)A709,50 - Total MISC. STRUCTURAL | Stockpile STMI Construction Construction Stockpile | | | 2023 | SYSTEM | \$106,825.00 \$106,825.00 \$106,825.00 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | 1060 | LOW ALLOY STEEL(IBM)A709,50 - Total MISC. | Stockpile STMI Construction | | TMI - Tota | 2023 Aug 2, | | \$106,825.00 \$106,825.00 \$106,825.00 \$106,825.00 | |
| | 1060 | LOW ALLOY STEEL(IBM)A709,50 - Total STRUCTURAL STRUCTURAL STEEL | Stockpile STMI Construction Construction Stockpile STMI | Stockpile S | TMI - Tota 7 | 2023 Aug 2, 2023 | | \$106,825.00 \$106,825.00 \$106,825.00 \$106,825.00 \$29,500.00 | |
| | 1060 1080 | LOW ALLOY STEEL(IBM)A709,50 - Total STRUCTURAL STRUCTURAL STEEL | Stockpile STMI Construction Construction Stockpile STMI | Stockpile S | TMI - Tota 7 | 2023 Aug 2, 2023 | | \$106,825.00 \$106,825.00 \$106,825.00 \$106,825.00 \$29,500.00 \$29,500.00 | |
| | 1060 1080 | LOW ALLOY STEEL(IBM)A709,50 - Total STRUCTURAL STEEL CONSTRUCTION | Stockpile STMI Construction Stockpile STMI Construction Stockpile | Stockpile S | TMI - Tota 7 | 2023 Aug 2, 2023 | | \$106,825.00 \$106,825.00 \$106,825.00 \$106,825.00 \$29,500.00 \$29,500.00 | |
| | 1060 1080 | LOW ALLOY STEEL(IBM)A709,50 - Total MISC. STRUCTURAL STEEL CONSTRUCTION - Total PLAIN NEOPRENE | Stockpile STMI Construction Construction Stockpile STMI Construction | Stockpile S | TMI - Tota 7 TMI - Tota | 2023 Aug 2, 2023 | SYSTEM | \$106,825.00 \$106,825.00 \$106,825.00 \$29,500.00 \$29,500.00 \$29,500.00 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | 1060 1080 | LOW ALLOY STEEL(IBM)A709,50 - Total MISC. STRUCTURAL STEEL CONSTRUCTION - Total PLAIN NEOPRENE | Stockpile STMI Construction Stockpile STMI Construction Stockpile STMI | Stockpile S - Total Stockpile S | TMI - Tota 7 TMI - Tota 7 | Aug 2, 2023 Aug 2, 2023 Aug 2, 2023 | SYSTEM | \$106,825.00 \$106,825.00 \$106,825.00 \$29,500.00 \$29,500.00 \$29,500.00 \$29,500.00 \$29,500.00 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | 1060 1080 1080 1100 | LOW ALLOY STEEL(IBM)A709,50 - Total MISC. STRUCTURAL STEEL CONSTRUCTION - Total PLAIN NEOPRENE | Stockpile STMI Construction Stockpile STMI Construction Stockpile STMI | - Total - Total - Total - Total | TMI - Tota 7 TMI - Tota 7 | Aug 2, 2023 Aug 2, 2023 Aug 2, 2023 | SYSTEM | \$106,825.00 \$106,825.00 \$106,825.00 \$29,500.00 \$29,500.00 \$29,500.00 \$29,500.00 \$640.00 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | 1060 1080 1080 1100 | LOW ALLOY STEEL(IBM)A709,50 - Total STRUCTURAL STEEL CONSTRUCTION - Total PLAIN NEOPRENE BEARING PAD | Stockpile STMI Construction Stockpile STMI Construction Stockpile STMI Construction Stockpile | - Total - Total - Total - Total | TMI - Tota 7 TMI - Tota 7 | Aug 2, 2023 Aug 2, 2023 Aug 2, 2023 | SYSTEM | \$106,825.00 \$106,825.00 \$106,825.00 \$29,500.00 \$29,500.00 \$29,500.00 \$29,500.00 \$640.00 \$640.00 | Payment Estimate Item Adjustment generated Stockpile Transaction |
| | 1060 1080 1080 1100 | LOW ALLOY STEEL(IBM)A709,50 - Total - Total PLAIN NEOPRENE BEARING PAD - Total LAMINATED | Stockpile STMI Construction Stockpile STMI Construction Stockpile STMI Construction Construction | - Total - Total - Total - Total | TMI - Tota 7 TMI - Tota 7 TMI - Tota | 2023 Aug 2, 2023 Aug 2, 2023 Aug 2, 2023 | SYSTEM | \$106,825.00 \$106,825.00 \$106,825.00 \$29,500.00 \$29,500.00 \$29,500.00 \$29,500.00 \$640.00 \$640.00 \$640.00 | Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction |
| | 1060 1080 1080 1100 | LOW ALLOY STEEL(IBM)A709,50 - Total MISC. STRUCTURAL STEEL CONSTRUCTION - Total PLAIN NEOPRENE BEARING PAD - Total LAMINATED NEOPRENE BEARING PAD | Stockpile STMI Construction Stockpile STMI Construction Stockpile STMI Construction Stockpile STMI | - Total o Stockpile S ^{**} o Stockpile S ^{**} - Total o Stockpile S ^{**} | TMI - Tota 7 TMI - Tota 7 TMI - Tota 7 | Aug 2, 2023 Aug 2, 2023 Aug 2, 2023 | SYSTEM | \$106,825.00 \$106,825.00 \$106,825.00 \$29,500.00 \$29,500.00 \$29,500.00 \$640.00 \$640.00 \$640.00 \$640.00 | Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction |
| | 1060 1080 1080 1100 11100 | LOW ALLOY STEEL(IBM)A709,50 - Total MISC. STRUCTURAL STEEL CONSTRUCTION - Total PLAIN NEOPRENE BEARING PAD - Total LAMINATED NEOPRENE BEARING PAD | Stockpile STMI Construction Stockpile STMI Construction Stockpile STMI Construction Stockpile STMI | - Total - Total - Total Stockpile S [*] - Total | TMI - Tota 7 TMI - Tota 7 TMI - Tota 7 | Aug 2, 2023 Aug 2, 2023 Aug 2, 2023 | SYSTEM | \$106,825.00 \$106,825.00 \$106,825.00 \$29,500.00 \$29,500.00 \$29,500.00 \$29,500.00 \$640.00 \$640.00 \$640.00 \$7,470.00 | Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction |
| J3S3154 | 1060 1080 1080 1100 11100 1110 | LOW ALLOY STEEL(IBM)A709,50 - Total MISC. STRUCTURAL STEEL CONSTRUCTION - Total PLAIN NEOPRENE BEARING PAD NEOPRENE BEARING PAD ASSEMBLY | Stockpile STMI Construction Stockpile STMI Construction Stockpile STMI Construction Stockpile STMI | - Total - Total - Total Stockpile S [*] - Total | TMI - Tota 7 TMI - Tota 7 TMI - Tota 7 | Aug 2, 2023 Aug 2, 2023 Aug 2, 2023 | SYSTEM | \$106,825.00 \$106,825.00 \$106,825.00 \$29,500.00 \$29,500.00 \$29,500.00 \$640.00 \$640.00 \$640.00 \$640.00 \$7,470.00 \$7,470.00 | Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction |



There are no contract adjustments to display for this contract.